- VALVES
E I F SOLUTIONS
sil/P FOR YOUR

77 PEROLOYW

3" (ND80) NEATFLOW MKIV

Footvalve

INSTALLATION

Ensure that the Inlet (tank side) flange and gasket are clean; free from dirt and grit.

1. Screw the studs into the tank container flange. Take note of the position of the studs (pic 1)

2. Fit the gasket (picture 2).

3. Fit the NEATFLOW MKIV Footvalve in position (picture 3).
4. Tighten the nuts torque : 50 N.m +/- 10 (M12); for 2nd closure valve 70 N.m +/- 5 (M16) behind neatflow.
For more details please refer to PWAGENOO1

\'A"\ Stud M12 63/33 with standard nuts

B Stud M12 48/30 with thin nut
B

A

Picture 1

e o
L
o/
(-] ()
Picture 2

Picture 4

Picture 3

45° INSTALLATION

ITEM  DESCRIPTION SPECIFICATION PART N°
3" NEATFLOW 45° 3" 45° footvalve, inlet flange 8x14xPCD178
3 NX34AX1
MK IV Square Outlet flange 4x@ 18xPCD160
6x M12 34/25 studs, 1x M12 40/30 stud(B)1x M12 63/33
4 Stud kit stud(A), 8x grower washers, 7xM12 standard nuts, 1x thin nut 1111279300
(B)
2 Inlet Gasket ext 2 200 mm, int 114 mm, 8 x 14 x PCD 178, CNAF / PTFE 12 91 20 00 00

1 Weld-in flange

ext 2 200 mm, int @ 114.3 mm, thickness 35 mm, 8 x M12 x
PCD 178, 316L stainless steel

11 90 59 00 00

30° INSTALLATION

ITEM  DESCRIPTION SPECIFICATION PART N°
3 3" NEATFLOW 30° 3" 30° footvalve, inlet flange 8x14xPCD178 NE33A]
MK I Square Outlet flange 4x@ 18xPCD160
6x M12 34/25 studs, 1x M12 40/30 stud(B)1x M12 63/33
4 Stud kit stud(A), 8x grower washers, 7xM12 standard nuts, 1x thin nut 1111279300
(B)
2 Inlet Gasket ext 2 200 mm, int 114 mm, 8 x 14 x PCD 178, CNAF / PTFE 12 91 20 00 00

1 Weld-in flange

ext 2 200 mm, int g 114.3 mm, thickness 35 mm, 8 x M12 x
PCD 178, 316L stainless steel

119116 00 00

BOTTOM DISCHARGE

Due to our policy of continuous product improvement, specifications may change without notice - Installation sheet PWA 11 16 87 30 00 A
It is the customer's responsability to check the compatibility between valves material and transported product.
PEROLO SAS, 69 Rue des Macons, 33390 Blaye, FRANCE -Phone : + 33 (0)5 5742 67 00 - Email : sales@perolo.com



